| #rith & xf BE & R4.2.254F R
#oIES| BEr% | IBTF | IB#E | IBSE | WL | HiTF | #ih 4% BRI | TR 4 | T E RS
14215|(F HHT | F iR 7 1|EEET 1TH 16 5| —EEHiith Mt HE
14216|{FHHT | F iR 7 2|ix=HET 1 TH 16 6| —EEHiith "t HE
14217|(FHEHT | FehiR 7 |iEHET 1 TH 16 1| —E it "t HE
14218|{F HHT | F iR 7 A4x=ET 1TH 16 8| —EHuith "t HE
14219|(FHHT | iR 8 2115/ 1TH 15 4| EE i Tkt HE
14220|{F HEHT | F iR 9 2115/ 1TH 15 4| EE Tkt HE
14221 |{F HHT | FehiR 10 FEET 1TH 15 5| —EEHiith Mt HE
14222|(F HEHT | iR 11 SR 1 TH 15 1| & Tt HE
14223|(FHHT | iR 12 =58 (1TH 15 6| — i mEt HE
14224|(F HEHT | iR 13 1{ESE 1 TH 15 1| &£ Tkt HE
14225|(F HHT | F iR 14 FEET 1TH 1 5| —EEHiith Mt HE
14226|{FHHT | F iR 15 1|EEET 1TH 15 9| —EEHith "t HE
14227{F EHT [ LR 16 1{ESE 1 TH 3 1| & Tkt HE
14228|{FHHT | F iR 23 1|EEET 1TH 15 11| — "t HE
14229|{F HHT [ EepiR 25 1{ESE 1 TH 14 1| S Tkt HE
14230[{F EHT [ LR 25 1{ESE 1 TH 14 11| EHth Tt HE
14231 {F EHT [ LR 26 FERT 1 TH 9 1|5 it Tk HE
14232|{FHHT | EdiR 26 F50 1TH 9 105> EHaith Tk HE
14233|{XHHT | EdiR 26 F50 1TH 16 1|5 it Tkt HE
14234 HHET | EiR 27 1{ESE 1 TH 14 8| —EHuith "t HE
14235 HHET | EiR 27 2|ixE/T 1TH 14 9| —EEHith "t HE
14236 HHET | EFiR 27 |iFERT 1TH 14 10| — 4t "t HE
14237|{FHHT | iR 27 A4x=ET 1 TH 15 1| —E#ith "t HE
14238|{FHHT | F iR 27 S5|{F=HET (1 TH 15 2| —EHuih "t HE
14239|{F HHT | F iR 28 1|EEET 1TH 9 3| —EHuih "t HE
14240|{F HFHT | F iR 28 21ix=HET 1 TH 9 A|— "t HE
14241 |{(FHEET | iR 28 |iEHHET 1 TH 9 5| —EHiith "t HE
14242|(F HEHT | iR 29 1|EEET 1TH 9 6| —EHiith "t HE
14243|(F HFHT | iR 29 2|1xSHET 1 TH 9 1| —E#ith Mt HE
14244|(F EHT | FehiR 29 |iEHET 1 TH 9 8| —EHuith "t HE
14245|(F HHT | F iR 29 A4x=ET 1 TH 15 3| —EHuih "t HE
14246 |{F HHT | F iR 30 1|EEET 1TH 10 5| —EEHiith "t HE
14247|(FHEHT | iR 30 21ix=HET 1 TH 10 6| —EHiith "t HE
14248|{FHHT | F iR 30 |iEHET 1 TH 10 1| —E#ith "t HE
14249|(F HHT | F iR 30 Aix=ET 1 TH 10 8| —EHuith "t HE
14250|{F HHT | F iR 33 FEET 1TH 6 3| —EHuih "t HE
14251 |{F HHT | F iR 35 1|EEET 1TH 6 1| —E it "t HE
14252|{F HHT | F iR 35 21ix=HET 1 TH 6 1| —E#ith "t HE
14253|{F HHT | F iR 35 |iEHET 1 TH 12 6| —EEHiith "t HE
14254|(F HHT | F iR 36 FEET 1TH 3 A|— "t HE
14255|(F HHT | F iR 37 =R 1TH 10 4| 5> E i Tkt HE
14256 |{F HHT | F iR 37 =0T 1 TH 10 105> EHaih Tkt HE
14257|{FHHT | F iR 38 =R 1 TH 10 3| EHih Tkt HE
14258 |{F HHT | F iR 38 =R 1 TH 10 9| E i Tkt HE
14259|{F HHT | F iR 39 SR 1 TH 10 11| & Tkt HE
14260|{F HHT | F iR 40 SR 1 TH 11 2| & Tkt HE
14261 |{FHHET | F iR 41 FERT 1 TH 10 11| &% Tt HE
14262|{FHHT | F iR 43 SR 1 TH 11 2| & Tk HE
14263|{F HHT | F iR 45 FEET 1TH 11 5| —EEHiith "t HE
14264|(FHET | F iR 46 1|EHEET 1TH 11 1| —E it Mt HE
14265|{F HHT | F iR 46 2|1xSHET 1 TH 11 8| —EHuith "t HE
14266 |{FHHET | F iR 47 FEET 1TH 11 6| —EEHiith "t HE
14267|{FHHT | F iR 48 1|EEET 1TH 14 1| —E#iith "t HE
14268|{FHHET | F iR 48 21iE=HET 1 TH 14 16| — i "t HE
14269|{F HHT | F iR 49 1|EEET 1TH 14 2| —EHuih "t HE
14270 HHET | EFiR 49 2115/ 1TH 14 3| —EHuith "t HE
14271 HET | EiR 49 |iFERT NTH 14 15| — i "t HE
14272|1F HHT | EdiR 50 1MEERT 1 TH 14 4| 5> E it Tkt HE
14273|{X HHT | EdiR 50 1MEE/r 1 TH 14 14| i Tkt HE
14274|(F HEET | iR 51 1|EEET 1TH 10 1| —E#ith "t HE
14275|{F HEHT | iR 51 21iF=HET 1 TH 10 2| —EHuih Mt HE
14276|{F HET | E iR 51 |iEZHET 1 TH 10 12| — 4t "t HE
14277\ EET | EehiR 51 44X =BT 1 TH 10 13| — 4t "t HE
14278|{F HHT | iR 52 1MEERT 1 TH 14 6|5 E i Tk poik=1
14279|{F HHT | F iR 52 1MEERT 1 TH 14 12|t Tk HE
14280|{F HHT | E iR 53 TR (1 TH 14 5|50 Tk HE
14281 |{FHHET | ErhiR 53 2FFHT 1 TH 14 13| E Tk HE
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|BFTith > EE R R4.2.254F R
#E|ZE| IBET4 | IBTS | A#E | BEE | ML | 1T | #Him i3 HUIhFER | TR A | BTERS
14282|{F HHT | F iR 61 1|EEET 1TH 13 8| —EHuith Mt HE
14283|{FHHT | F iR 62 =58 (1TH 13 3| EEHih mEt HE
14284|(FHHT | F iR 63 1|EEET 1 TH 13 3| EEHih mEt HE
14285|(F HHT | F iR 63 21ix=HET 1 TH 13 5|— % mEt HE
14286 |{FHHET | F iR 63 |iEHHET 1 TH 13 6| — it mEt HE
14287|{FHHT | F iR 63 A4x=ET 1 TH 13 4| —Eth mEt HE
14288|{FHHT | F iR 64 1|EEET 1TH 13 1| EHih mEt HE
14289|{F HHT | F iR 64 1|EHEET 1TH 13 12| mEt HE
14290|{F HEHT | F iR 65 1|EEET 1TH 13 11| =% mEt HE
14291 |4 S/ |95 1 EER 1TH 4 2| — %t mE e
14292|F HHT |#E 2 EERT 1 TH 4 3|~ mE e
14293|F HHT |#E 3 SR 1 TH 5 1| mE e
14294\ X HHT |9E 4 SR 1 TH 5 2|5 i mE e
14295 |4F HHT |#)E 4 EERT 1 TH 5 3| i mE e
14296 |F HHT |#)E 5 1MEERT 1 TH 5 4| —Eifith mE e
142971F HEBT (0T 5 2|15/ 1TH 5 8| —ZEHuih Mt HE
14298{1F HHT (1T 5 |iFE/RT 1TH 5 5|—Z#uih "t HE
14299{F HHET [T 5 AiFERT 1TH 5 6| —ZEHuih "t HE
14300[1F HET (08 5 S5|4E=HT (1 TH 5 7| — i "t HE
14301 [{XHHET | 9E 6 1{ESE 1 TH 5 10| —%#tth "t HE
14302|{1F FET (1T 6 21ESHT 1 TH 5 11| —%#th "t HE
143031F HET (1T 7 FERT 1 TH 4 5|—Z#uih "t HE
14304{1F HET (1T 8 1{ESE 1 TH 5 o| —EHiith Tkt HE
14305[1X HHT |91 E 8 2115/ 1TH 4 6| —ZHuih Tt HE
14306 X HHET |#1E 9 FEET 1TH 3 |EEiih Tt HE
14307 [{XHHT | E 10 FEET 1TH 3 |EEiHih "t HE
14308|[{X HHT |#1E 11 FEET 1TH 15 10| — 4t Tk HE
14309 |[{X HHT |[#1E 12 FEET 1TH 4 4|—%#th Tt HE
14310[{X HHT |9E 13 FEET 1TH 4 1|—%iith Tt HE
14311 X 5T |9 14 FEET 1TH 2 2| — i Tt HE
14312|X HHT | 9E 15 FEET 1TH 2 1|&E#ith Mt HE
14313 X HHET | 9E 16 FEET 1TH 2 1| &%t "t HE
14314 X HHT | 9E 17 FEET 1TH 2 3|— i Tt HE
14315[{X HHT | E 18 FEET 1TH 2 4| Eth Tt HE
14316 [{XHHET |[E 18 FEET 1TH 3 1| E#th Tt HE
14317|E 50T WS 19 FSE8T 1TH 3 1| &E#ith "t HE
143181EEHT (A1 20 FEET 1TH 2 12|—%#th "t HE
143191F 50T (A1 21 1{FHRT (1 TH 2 6| — %t mE e
143201F 50T (A1 21 2158 1T H 2 7| —%#ih mE He
14321 E 50T (A1 21 iEEET 1T H 2 8| — i mE e
143221F 50T (18 21 AlEERT 1TH 2 9| — %t mE e
14323|[1XHHET |9 21 5|11x5RT 1 TH 2 10| —%#th Mt HE
14324|{XHHT | 22 1{ESE 1 TH 2 13| —%#tth Tt HE
14325|[1X 50T |91 E 22 2|ixE/T 1TH 2 15| —%#tth Tt HE
14326 [{XHHET | 1E 22 |iXE/RT NTH 2 14| —%#tth Tt HE
143271E 50T (A1 23 EER 1TH 1 2|5 i mE e
14328|[1X HHT | 91E 23 FEET 1TH 2 16| EHth "t HE
14329|[{X HHT | E 23 FEET 1TH 2 17|t "t HE
14330[{X HHET | E 24 SR 1 TH 2 1| &%t "t HE
14331 X HET (1T 25 1{ESHET [2TH 5 1| -5 Tt HE
143321F HET (1T 25 2|ix5E/T |2TH 5 3| Tt HE
143331F HET [T 25 |IXE/RT 2T H 5 11| —%#th "t HE
143341F EET (1T 25 AiFERT |2TH 5 12| —%#th Tt HE
143351F HET (18 25 5|1X5RT 2T H 5 2| — i "t HE
14336 [1F HET [#1E 25 6|1X5ERT 2T H 5 4|—E#th "t HE
143371F EHT (1T 25 T4ESHT (2T H 5 5|—Z#uih Mt HE
14338{1F HHT [T 25 8l{ETHT (2T H 5 6| —ZE#uih "t HE
143391F HHT [T 25 o[fETHAT (2T H 5 13| —%#tth Mt HE
14340[{1F EHT (1T 26 FE0 |2TH 4 3|—E i "t HE
14341 X EHT (1T 27 FEET 1TH 1 4| —Eh Tt HE
143421F EHT (1T 28 FEET 1TH 1 9| — it Tt HE
14343|[1XHHET | E 29 1YESET [2TH 5 7| — Tt HE
14344 |1X R | E 29 21ix5E/T |2TH 5 8| —EHiith Tk HE
14345|[1X HHT |9 E 30 1{ESET 1 TH 12 1| —E#ith Tk HE
14346 [{IXHHET | E 30 2115/ 1TH 12 2| —EHuih Tk HE
14347 [{XHHT | 9E 30 |iXEE/T NTH 12 14| — it Tk HE
14348|1XHHT | 9E 30 A|FEET 1TH 12 3| —EHuih Tk HE
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| #rith & xf BE & R4.2.254F R
#E|ZE| IBET4 | IBTS | A#E | BEE | ML | 1T | #Him i3 BRI | TR | mTERS
14349 [{X HHT | E 30 5|11x5RT 1 TH 12 A|— 4t Tkt HE
14350[{X HHT | #1E 30 6|iXERT 1 TH 12 12| — 4t Tkt HE
14351 X 50T (18 30 7iEERT 1TH 12 13| — 4t Tkt HE
14352|{1X HHT | 1E 30 s|iXERT 1 TH 11 1| —E#ith Tkt HE
14353|[{X HHT | #1E 30 oliFERT 1TH 1 6| —EEHiith Tkt HE
14354 |[{X HHT |1 E 30 10/4FF=ET 1TH 2 11| —%#h Tkt HE
14355 |[{X 50T |90 E 30 M|FHET 1TH 12 5| —EEHiith Tt HE
14356 [{X HHT | #1E 30 12|1(FFE 1TH 1 1| —E it Tt HE
14357 [{XHHT | 9E 30 13|4FFHET 1 TH 1 8| —EHuith Tk HE
14358 |[{X HHT |91 E 31 SR 1 TH 11 2| & Tkt HE
14359 |[{X HHT | 91E 32 EERT 1 TH 11 2| EEHh Tt HE
14360[{1F HET [#1E 33 SR 1 TH 11 4| — Tt HE
14361 X HET |[9E 34 SR 1 TH 11 11| — Tkt HE
14362|1F HET (1T 35 1{ESE 1 TH 11 12| — 4t Tkt HE
143631F HET (1T 35 21ix5E/T 1TH 11 13| — 4t Tkt HE
143641F HET (1T 36 1{ESE 1 TH 11 9| —EEHith Tt HE
14365{1F HHT [#1E 36 21ixE/T 1TH 11 10| — 4t Tk HE
14366[1F HET (18 37 1MESE/T 1 TH 1 10| — 4t Tk HE
14367[1F HET (1T 37 21ESHT (1 TH 1 11| —ZHHh Tkt HE
14368{1F HHET [#1E 38 1MESERT 1 TH 12 7| —E#uth Tkt HE
14369|1F HET [#1E 38 21ESHT 1 TH 12 8| — it Tkt HE
143701F EET (1T 38 4ESHT (1 TH 12 9| —EHith Tt HE
14371 X 5B (1T 39 FEET 1TH 12 10| — 4t Tkt HE
14372|1XHHT | E 40 FEET |2TH 12 A|— Tk HE
14373|[1X HHT | E 41 FEET |2TH 6 8|EE i Tk HE
14374|1X 50T | E 43 1YESET [2TH 6 8| EE i Tk HE
14375|[1X HHT | 9E 43 21iX5E/T |2TH 6 9| EE i Tk HE
14376 |[{IXHHET | 1E 45 1YESET [2TH 6 10| — it Tkt HE
14377[1X 50T | 9E 45 21iX5E/T 2T H 6 11| — it Tkt HE
14378|[1X HHT  |[1E 45 |IXE/T |2TH 6 12| — 4t Tk HE
14379|[1XHHT | E 45 AiFERT |2TH 6 13| — 4t Tkt HE
14380[{X HHT | #1E 46 FEET |2TH 6 2| —EHuih Tkt HE
14381 [{XHHET |[E 47 FEET |2TH 6 14| — it Tkt HE
14382|1XHHET | 1E 48 FEET |2TH 4 4| EEHh Tk HE
14383[{XHHET |[1E 49 FEET |2TH 4 4| EEHih Tk HE
14384 |[{XHHT | 91E 50 FEET |2TH 6 1| EH# Tt HE
14385|[{X HHT | #1E 50 FEET |2TH 7 1| D& Tt HE
14386 [{XHHET | #1E 50 FEET 2TH 7 2| Tkt HE
14387[{XHHT | E 51 FEET |2TH 5 9| —EEHith Tkt HE
14388 |[{XHHT |[#1E 52 FEET |2TH 5 10| —EHaHh Tkt HE
14389 |[{X HHT |[#1E 53 FEET |2TH 4 6| &£ Tkt HE
14390[{X HHT |[#1E 54 FEET |2TH 4 6| &£ Tkt HE
14391 X 50T (A1 55 FEET |2TH 4 9| —EEHiith Tkt HE
14392|XHHT | E 56 FEET |2TH 6 3| —EHuih Tt HE
14393|[{X HHT |[E 57 1YESHET [2TH 3 12| — 4t Tt HE
14394 |[{XHHT | 9E 57 2|iX5E/T 2T H 3 5| —EEHiith Tkt HE
14395 |[{X HHT  |[91E 57 |IXE/RT 2T H 4 13| — 4t Tkt HE
14396 [{X HHET |[#1E 57 AiFERT |2TH 3 6| —EEHiith Tk HE
143971F HBT (1T 57 5|1X5/T 2T H 3 1| —E it Tkt HE
14398 {1F HHET [T 57 6|1X5ERT 2T H 4 1| —E#ith Tkt HE
143991F HET (1T 57 7EERT |2TH 4 2| —EHuih Tkt HE
14400[{F EET (0T 57 8|iX&E/T |2TH 4 12| — 4t Tkt HE
14401 X 5EET (0T 57 o|iFERT |2TH 4 11| —%#th Tkt HE
14402|1F EET (1T 58 1{ESE [2TH 3 2| —EHuih Tt HE
14403{1F HHT (1T 58 2|iXE/T |2TH 3 3| —EHuih Tkt HE
144041F EET (1T 58 UETHT (2T H 3 4|—E#th Mt HE
14405|[1X HHT |91 E 59 FE0 |2TH 3 1| =% "t HE
14406 {1F HET (1T 60 1MEE/T [2TH 3 10| — i Tkt HE
14407{F HEET (1T 60 21ETHT (2T H 3 9| —ZHuih "t HE
14408{1F HHT (1T 60 |IEE/RT |2TH 1 1| £t Tkt HE
14409{1F HHT (1T 60 AiFERT |2TH 1 8| —EHiith Tkt HE
14410[{XHHT | E 60 5|1X5/T 2T H 1 9| —EHiith Tkt HE
14411 X HRT |9 61 1YESET (2T H 3 8|t Tk HE
14412|1XHHT | 9E 61 1{ESET [2TH 3 11|t Tk HE
14413[1XHHT | 61 21iX5E/T 2T H 1 12| — 4t Tk HE
14414 |1X R | 9E 61 |IXE/T 2T H 1 10| — it Tk HE
14415|1X 50T | 9E 61 AFERT |2TH 1 11—t Tk HE
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| #rith & xf BE & R4.2.254F R
#51&=| B4 | BTF 2

e *JJ%-T- IEIfﬂ?1 IEI$§Z§5 E%%mﬂlf 2%%?_‘1;— o 3 - 4% BRI | TR 4 | T ER S
144171x & 0E 61 6{ESHET (2T H 2 : :%mm e e
14418|1F 5 DE 62 1MEERT [2TH 1 Z —%%ﬁ or o
14419)1x & DE 62 2T (2T H 2 —%mm e e
14420|1F 5 DE 62 SUEFHT (2T H 2 : —%miﬁ e e
144211x & VE 62 4|1XFE 12TH 2 ) —%miﬁ e e
14422|1X 50T | 9E 62 S5|EFHT (2T H 8 ? _%mtﬁ I =
14423|1XHHT | 9E 62 6|ESHT (2T H 8 —%miﬁ e e
14424 |1XHHT | E 63 FEET |2TH 8 : /\%%ﬁ e e
14425|[1X 50T |90 E 63 FEET |2TH 8 15 ﬂ%miﬁ re =
14426 [{XHHT |9 E 64 FEET |2TH 7 5 igmiﬁ e e
14427 |1X 50T | 9E 65 FEET |2TH 7 5 —%mﬂﬂ e e
14428 |1X HHT | E 66 FEET |2TH 7 ; —%mﬂﬂ e e
14420|[1X 50T | E 67 FEET |2TH 4 . A%mﬂﬂ e e
14430[{X HHT | E 68 FEET |2TH 6 : Z%mﬂﬂ e e
14431 X HHET | 9E 69 FEET |2TH 7 : E%mﬂﬂ e e
14432|IXHHT | E 70 FEET |2TH 12 ; _%#ﬁﬂt re =
14433|1x & DE 71 1{ESHE [2TH 12 : /\%Mﬂ hr =
1443413 & VE 71 1{ESHET [2TH 12 : ﬂ%mﬂt hr =
14435|1x &5 DE 72 1MEE/T [2TH 12 5 i%miﬁ r e
14436|1x & VE 72 4|iEEHET 2TH 12 19 —%miﬁ re e
144371z & 0E 73 FE0 |2TH 12 (1) —%miﬁ r e
144381x & 0E 74 FEET |2TH 8 —%miﬁ e e
14439|F 5 0E 75 1YESET [2TH 8 ; —%mm e e
14440|F 5 0E 75 2MFFHT (2T H 8 : —%mm e e
14441 |5 IE 75 YETHET (2T H 8 ; —%%ﬁ e e
14442|1x 5 IE 76 FEET |2TH 11 5 _%mﬂt I =
14443|1x 5 0E 77 FEET |2TH 11 19 A%wﬁ r =
14444|1x 5 0E 78 1MEERT [2TH 11 g Eigﬁ Ei iﬁi
14445|1F 5 0E 79 i A
144471F 5 Bl &R 22 ‘ E%g 'ZﬁﬁTEEBE 142 : ;%mﬂt r =
144481x 5 Bl &R 23 1{EHHET ﬁﬁf_ﬁﬂ 139 E%mm r =
14449)1F 5 Bl &R 23 2|1 HEHT ﬁﬁf_ﬁﬂ 136 _%mﬂt r =
144501F &5 Bl ER 23 3|{EHEMT ﬁﬁf_ﬁﬂ 142 A%mm r =
144511F &5 B ER 23 A[{FEHT ﬁﬁf_ﬁﬂ 140 E%mm I e
144521 S BT | BB 23 slESar B8 141 “ean T [ e
16176]hET | RES i SR 2TH 2 5 TR TER
16177| R AT ERS 2 1|EHEHET [2TH 2 1 —%miﬁ r =
16178| R HT ERS 2 2|1F =BT (2T H 2 10 —%miﬁ r =
16179| R AT ERS 2 |{EHHET (2T H 2 11 —%miﬁ I =
16180| R AT ERS 3 1EEHET [2TH 10 1 —%miﬁ I =
16181|hHy ERS 3 2|iFSHET (2T H 10 2 —%miﬁ r =
16182|hHy ERS 3 |iEHHET (2T H 6 4 /\%miﬁ I =
16183| R HT ERS 3 |{EHHET (2T H 6 5 ﬂ%miﬁ I =
16184|hHy ERS 3 |{EHHET (2T H 8 11 ﬂ%miﬁ r =
16185| R HT ERS 3 44X =HET |12TH 10 3 igmiﬁ I =
16186 R AT ERS 4 1|EHEHET [2TH 2 4 —%miﬁ I =
16187| R AT EES 12 1EHEHET [2TH 10 4 —%miﬁ I =
16188| R HT ERS 12 2|1E =BT [2TH 10 5 —%miﬁ I =
16189| R AT ERS 12 |{EHHET (2T H 11 1 —%mﬂﬂ hr =
16190| R AT ERS 12 44X =HET |12TH 11 3 —%mﬂﬂ re =
16191| R AT ERS 12 S5|{F=HET (2T H 8 8 —%mﬂﬂ I =
16192|hHy ERS 12 6|iFERT 2T H 11 2 —igﬁ “gi iﬁi
16193 | R AT BRI 1 = H A
16195| R AT ERS 12 oliF=HT (2T H 11 5 —%mﬂﬂ re e
16196 R AT ERS 13 58/ 1TH 13 2 /\%mﬂﬂ re o
16197 | R AT ERS 13 58/ [2TH 7 4 ﬂ%miﬁ re =
16198| BT EES 13 FEET |2TH 11 8 ﬂimiﬁ hr =
16199| R AT ERS 15 1|EHEET [2TH 11 10 Q%miﬁ re =
16200| R AT ERS 16 1|EEET [2TH 11 E%mm e e
28277 =58 (1TH 1 ; %mﬂﬂ e e
28278 =58 (1TH 1 : 1%;.;113 e e
28279 =58 (1TH 1 13 1%;.;113 r 2
28280 =58 (1TH 2 : 1%;1& e e
28281 =58 (1TH 3 > 1%;1& e e
26261 e 178 2 2|R R ih Tk HE

&= 5| R ih Tk HE
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|BFTith > EE R R4.2.25F Rk
#Fo|BES| IAETZ | BT | IBH%E | BEE | F0R | HiTF | $in i3 BB R | TR | BTERS
28283 FEET 1TH 3 6| R Hh Mt HE
28284 FEET 1TH 4 TR #h "t HE
28285 FEET 1TH 4 8|{R Bt mEt HE
28286 FEET 1TH 4 9|REHh Mt HE
28287 FEET 1TH 6 2|REHh "t HE
28288 FEET 1TH 6 4R BB mEt HE
28289 FEET 1TH 6 5|GREHh Mt HE
28290 FEET 1TH 6 6| R Hh "t HE
28292 FEET 1TH 8 1|{REE #h "t HE
28293 FEET 1TH 8 2| R B mEt HE
28294 FEET 1TH 8 3R ih Mt HE
28295 SR 1 TH 8 4|1 b Tt HE
28296 SR 1 TH 9 2|{R 2B ih Tkt HE
28297 SR 1 TH 9 9|{R 2B ih Tkt HE
28298 FEET 1TH 11 3R B mEt HE
28299 FEET 1TH 12 11|{R B "t HE
28300 FEET 1TH 13 7|4R 2B Hh mEt HE
28301 F50 1TH 13 1R 2B ih Tkt HE
28302 58/ 1TH 13 10|{R B3 "t HE
28303 F50 1TH 15 8|{R 2B ih Tkt HE
28304 FE0 1TH 16 2|{R 2B ih Tkt HE
28305 F50 1TH 16 3R Tt HE
28306 =58 (1TH 16 4|{RBRHh "t HE
28327 =58 [2TH 1 2|REHh "t HE
28328 =58 [2TH 1 3|REHh "t HE
28329 =58 [2TH 1 AR B "t HE
28330 =58 [2TH 1 5|REHh "t HE
28331 =58 [2TH 1 6| R Hh "t HE
28332 =58 [2TH 2 3|RE Mt HE
28333 =58 [2TH 4 5|REHh "t HE
28334 =58 [2TH 4 TR #h Mt HE
28335 =58 [2TH 4 8|REHh "t HE
28336 =58 [2TH 4 10|{R BB 1h "t HE
28337 =58 [2TH 6 7R #h "t HE
28338 =58 [2TH 7 3|REHh Mt HE
28339 =58 [2TH 7 7R #h "t HE
28340 =58 [2TH 7 10|{R BB ih "t HE
28341 =58 [2TH 8 3|REHh "t HE
28342 =58 [2TH 8 12|{R BB "t HE
28344 =58 [2TH 11 11|{R BB "t HE
28345 =58 [2TH 11 12|{R BB "t HE
28346 =58 [2TH 11 13|{R BB "t HE
28347 =58 [2TH 11 14|{R B0 "t HE
28348 =58 [2TH 11 15|{R BB b "t HE
28349 =58 [2TH 12 5|{R B mEt HE
28350 =58 [2TH 12 6|{R BBt mEt HE
28351 =58 [2TH 12 TR #h "t HE
28352 =58 [2TH 12 11|{R B "t HE
28353 =58 [2TH 12 12|{R B3 Mt HE
28377 FEHEET | FIER 137 R Hh Mt HE
28378 FHEET |FIER 138 R Hh Mt HE
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